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result CREW (PILOT) GATE1 | GATE2 | TIME g el =2 3
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1|Lacko 7:53:55| 8:01:47| 0:07:52| 152,54 300] 230( 700] 1000
2|Lengal 7:43:43| 7:52:25| 0:08:42| 137,93 271 230( 700 971
3|Krajca 10:15:30f 10:24:45] 0:09:15| 129,73 255] 210 639 894
4]Lorenc 10:27:25( 10:37:25] 0:10:00| 120,00 236] 210( 639 875
5|Cekan 0:00:00 0,00 0] 230| 700 700
6|Lukes 0:00:00 0,00 0] 210| 639 639
7|Chvojka 0:00:00 0,00 0] 190| 578 578
8|Seifert 0:00:00 0,00 0] 190| 578 578
9|Jonas 0:00:00 0,00 0] 180| 548 548
10|Bartdnék 0:00:00 0,00 0] 100| 304 304




